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QUESTION 1

Which device is responsible for roaming decisions? 

A. user 

B. client 

C. controller 

D. AP 

Correct Answer: B 

 

QUESTION 2

Which Juniper Mist device enables seamless roaming for large campus networks through on-premises tunneling? 

A. Mist BT11 

B. Mist AP43 

C. Mist AP33 

D. Mist Edge 

Correct Answer: D 

 

QUESTION 3

Which two statements are correct about Marvis? (Choose two.) 

A. Marvis is the main configuration tool. 

B. Marvis lets you ask questions about your network. 

C. Marvis will send custom reports. 

D. Marvis can be used as a proactive monitoring tool. 

Correct Answer: BD 

 

QUESTION 4

You are troubleshooting a WLAN from a mobile handheld device that displays radio information. You see a signal on the
same SSID from two separate access points (APs). AP A shows a signal strength of -57 dBm and AP B shows a signal
strength of -72 dBm. 

In this scenario, which statement is correct? 
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A. dBm is not a measure of signal strength. 

B. The client\\'s signal strength is not known. 

C. Access point A has the stronger signal. 

D. Access point B has the stronger signal. 

Correct Answer: A 

 

QUESTION 5

Which statement is correct about a WLAN RF medium? 

A. A WLAN RF is a full duplex, contention free medium where each client transmits on a separate channel. 

B. A WLAN RF is a full-duplex, contention-free medium where 802.11 stations can transmit and receive at the same
time. 

C. A WLAN RF is a half-duplex, shared medium where 802.11 stations contend with each other for access. 

D. A WLAN RF is a half-duplex, contention-free medium where the access point polls each station in turn. 

Correct Answer: C 
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